
 1 

1.1

 2

 (Traditional risks)

 (Modern risks) 

 –

 5

 128  140

 8 - 10  1  45  (

, 2551) 

isksks) 

(Traditional risks)

 (M

 – 

(T

 2

8 014

5

28 140



2

 - 

 2  MP61  PP01  5 

 2  MP59 MP60

 141  2

1  MP58

 1

178  2

 1

 Pulley  MP57

 262  2

 ( , 2540) 

 - 

 (2551) 

7

62

M

M

1

26

 

 1

7

 2

 ((

 

ley  MP

141

MP 9 



3

 (2551)

 (2551)

 -

551)(2551

 (2551)



4

 1)  – 

2)

1.2
 1)

 -

 2)

1.3

4

-

 2

130 592

 304  288  ( ,  2550)

 2

31.

)

 2

1)

92

8

3030  592

8

300



5

 1) -

 2) 4

 3) 

 4)

1.4
1)

2)

-

1.5

 1)

2) 

 

2)

1.4

2)

1)

4)

4

5

1)1)



6

 3) 

4)

-

4)

-


